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SECTION - A

e uv

Multiple chorce questions

Trof arfymes s eI AR -

#)  Touwrs & = A)  UFR T W SR
7)) g R A 3) HT Rma T
The study arca of macro economics is -

\1 Taste of consumer B) Behaviourofa firm
) Price of commodity D) General price level
Yo W TS JTam F wER W e R -

H) MR ) =

R) WAl 3) ™
Capital received in returns for its use -

A) Rent B) Interest
C) Labour D) Profit
YRA ¥ Thel UL IAT 1 ITHE el & —

n) fiod &% o 3oz q) ifa amam
B e wifeadh @irea 3) faw smam

Calculate the Gross domestic product in India -
A) Reserve Bank of India

B) NitiAayog

C) Central Statistical Organization

D) Finance Commission

fefoem AT &1 WA 7l ¢ -

3) §-deic ) A=

|) Fw 3) THUWIgH
Easy form of digital payment mode 1s -

A) e-wallets B) Cheque

C) Draft D) Bank passbook
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V) Wi & R siftm sroremr gt @ - 1]
H) WER ) el
q)  wEw 7)) afvies =
Lander of last resort for banks is -
A)  Govemment B)  Central bank
C) Consumer D) Commercial banks
vi) S 3sm (YY) fivk e @ - (1]
H) =W 9 FmEW
®) HHd R A 7 T
Induced Consumption (cY) is depends -
A) On Interest B) On Income
C) On Price Level D) On Taxes
vii) %ﬁqﬁimmﬁmﬁ%ﬁmﬁﬁﬁqaﬁqﬁm%— (1]
) WER ) AR
q) o= 2) IR
Who takes important decisions in centrally planned economy -
A) Govermment B) Market
C) Bank D) Consumer
viii) FeferRa § Fremda o =1 o e @ - (1]
#) s 3)  anyfrs o
|) o I 3 W wR
An example of inferior goods in follows -
A) Jewellery B) Modem dress
C) Coarse cereals D) Smart phone

SS—10-Economics [,
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ix) JAEA FEE H waEa o HE ¥ - (1

&.;Qif'(l.l\’} a 9 f(l.+K)

A q- (1 K) 5 q=f(LK)
Production function shows as -

A) q=T1(LK) B q=r(L+K)

C) g=f(L-K) D) q=f(L+-K)

F &R 3R FA e wrm & ey s A € -

) IiET AT & T 7) A @ % S

R) 3itea R AT F TR e o R wvm & T

Difference between total cost and total variable cost is -

A) Equal to Average cost B) Equal to marginal cost

C) Equal to Average fix cost D) Equal to total fix cost

SISl 3TEd TINTA ok whi SIUeRTE HINT oI a5k Had el ¢ -
#) = figw ) T g w
]) Toau g v 3) W feagaTm

Long run average cost always intersect the Long run marginal cost at -
B) Onminimum point
D) Above from mid point

A) On higher point

C) Below from higher point
F-7 TR 4 & agfes ol & e e s ad § -
H) THMUFER q) o it

|) AR ﬂ,mﬁw

In which market firms make 'cartel' to get combined profit -

A) Monopoly B) Perfect Competetion

C) Duopoly D) Oligopoly
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7) e vl B o

Fill in the blanks :

)
i

i)

n}
V)

Vi)

e v A g Qe AU HE R o i e g il
Adam Smith's Famous book "Wealth of Nations' published in year SR
et BT A Tz T B s 2 ) i
Substract _ from grass investment then get net investment.

et G Wi, A Tl M e afe 7F1 T gt 21 il

The ex ante aggregate demand is the sum of the total ex ante consumptig,
expenditure and ___ .

A o W W, R TEIY @ AT Rl Ul
Roads and government administration are called goods.
............... R -TrATT T 49 T Tk Ha® 9291 9 21 il

is the single largest component of non-plan revenue expenditure,
T T FE A TG e . TGS BT TR F| [
Tea and coffee are just like example of goods.

3) fagwidIm 10 - 20 veel 8 diftre ;
Answer the following questions in 10 - 20 words :

Frata @ sma e AR E7 fh
What do you understand by export?

wis @ oftmfia fifvm l
Define stock.

& g 8 T atft 22 [
What is meant by bank rate?

Frta ot 1 g frfa U
Write the formula of investment multiplier.

9w o waifees fiva w ek A B2 i
What does consumption demand depend the most on?

i 8 s @ o 35 g T I A Ywii A i) d

Diagramatically show the effect of change in tax on the income equilibriut



vi)) 990 SR R o

i1

What do you mean by capita] account?

vill) O PR fasren 7y 35
What is ordinal utility analysis?

X) IFRMA TARE @ 3w o ¥ 7
What do you understand by indifference map?

X) OCTHEA W W § ) 1]
Explain short run in brief,

x) e R v 6t ST e o &7 1]
What is the shape of average fixed cost?

xil) e IREdi AR w1 e =) 1

Draw the diagram of total variable cost.

1]

(1]

e |
SECTION - B
frer wwt & I 30 - 40 vegi | @ ;

Answer the following questions in 30 - 40 words :

4) ﬁam{aﬁﬁmﬁmmmﬁgmﬁmﬁﬁq_(@gﬁ) 2]
C = 1,000, [=1,500,G = 500, X =250, M =750

Calculate the gross domestic production on market price by given values - (In Crore)
C = 1,000, 1 = 1,500, G = 500, X =250, M =750

5) g fafiwra womeht quzE| 2
Explain the barter system.



6) ﬁm%%mﬁmwmg?s

12)
What do YOu meap, by Paradox Urthl‘iﬁ"

If given valyes of balance of payments in India as follows.

Import = 1,500 Million USD, Export = 2,400 Million USD, Invisibles = 520 they,
calculate trade balance and current account balance?

10) =afe mﬂwraqﬁm&anfmﬁ@iaaim%%ql

[1+1=]
- Write any two differences between micro and macro economics,
11) aTR srefzaey H w2 @ Rowan i) (1412
Write any two characteristics of market economy.

Distinguish between normal goods and inferior goods.

F conomics
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[3) TR %R i s i) 12]

L:xplain briefly the production functions,
14) ot wfirat aram § S R waEr ot @] 12]

Explain the 'price taking behaviour' in perfect competetion market.

15) wm ferfirg A & fore smom win &6 aun arm qid @6 AR w60 =200 - p,
¢* =120+ p & A HgeH hiwa 7 Wqer wrn 7 Hfg| [1+1=2]
Suppose given values of market demand and market supply respectively are
g” =200~ p, ¢° =120+ p: then calculate the equilibrium price and equilibrium
quantity.

16) = § v weoft & T v it o Hifew - [Vttt vs=2|

T (Q) 1 2 3 4
<ma (P) 22 19 16 13

Fe T ? ? % ?
Calculate the total revenue by below given table -
QuantityQ [ T [ 2[ 3] 4
Price (P) 22 19 16 13
Total Revenue ? ? ? ?

R ennamics ’ MI | Turn Over



10
TvE - o

S —

| SECTION - ¢
v urt % w60 - 80 et | Ao

17 e Wi, At ey v smerfires 12T 1w

Lxplain the revenue deficit, fiscal deficit and primary deficit.

18) ‘avera ¥ s srimem we 31 3w w & A e e e St

(3]

: ~ . : . lished t.
In reality, most modern economics are open'. Describe any three ways to establl

19) AW & Tean Ta #l awe T afa s 22 gaeed

How to regulate budget line to consumer's optimum choice? Explain.

20) vt wd % SR " @56 & Wi B g 3 s |

I:xplain market demand curve of monopoly firm with the help of diagram.

- EisE-¢
SECTION - D
fe oAl & TR 100 - 150 el | i

Answer the tollowmg questions in 100 - 150 words :

21) Wﬁﬁﬁﬁua@@mﬁﬁ@wﬁmiﬁqi
Discuss the role of centrnl bank and commercial banks in moper Suppiy
FUA/OR ‘ B

ey R e 1 0 i 3T ot iy

(- xplain the measures 0f money supply control by Reserve Bank of 1
n

o]
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zz)i@ﬁaﬂmﬁuhé;ﬁwﬁmﬁﬁm [4]

23)

Explain law of demand with the help of diagram.

JHemr /(R
TR W HY v IogE YR ) T @ qwemEd| [4]

Explain market demand with the help of a suitable diagram.

ot sifeeedl arem 3 e s iy @ YR 6 wer @ awEE) [4]

Explain the 'shutdown point' in perfect competetion market with the help of diagram.

sm/OR
P fefeefl 4 arom wigem & uftad= =) vt 6 vgmEm @ T [2+2=4]
) am A fre i) it 4 firee

Explain changes in market equilibrium in following conditions with the help of
diagram -

i) Shift in demand i) Shiftin supply



